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Annual Examination, 2022
B.Sc. Part III
BIOCHEMISTRY
Paper II

(Nutritional, Clinical and Environmental Biochemistry)
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Note : Section ‘A’ is Objective type and is compulsory. It
should be written on the first page of Answer-
book. Section ‘B’ is Short answer type and Section

‘C’ is Long answer type.
¥[us ‘31’ (Section ‘A’)
ag fawcdia oo
(Multiple Choice Questions)

W& I T T HITST . 1x10=10
Choose the correct answer :

(i) 7[< ohl hHI oh HHC H, YIS oh T O &1 ol

=feq ?
(31) gEficratzeg  (9) efavas i tfae
(9) Tl () foerfiq = |

PT.O.

(iii)
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In cases of renal insufficiency, what should
take in place of proteins ?
(a) Triglycerides
(b) Essential Amino Acids
(c) Glucose
(d) Vitamin K
St uen | sE-w foerfi sfegd & JHad
TEA § ?
(37) A (<) B
() C () D

Which Vitamin in large amounts harms the

bones ?

(a) A (b) B

(c)C (d) D
freafafed § ¥ FF-9 gaw 9w ad € 2
(31) faafHa ik @fs

(&) Ui AR fererf

() FETerEge 3R o

(%) UREH &R @ |

Which of the following are the

micronutrients ?
(a) Vitamins and Minerals

(b) Proteins and Vitamins



(iv)

v)
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(c) Carbohydrates and Fats
(d) Proteins and Minerals
TG ford o1 o | 89 it W9 § 2
(37) fer
() 1-5 9 & a7 % < T

() fereme (3) Is M

In which age group marasmus is likely to
happen ?

(a) Infants

(b) Children between 1-5 years of age

(c) Teenagers (b) Old people

frefafed 4 9 frd desifas fames s S
€72

(31) foerfia &) @f=

(&) o SR ar

(%) @ 3R] &1

(3) FERES AR foerfia

Which of the following is called Metabolic
regulators ?

(a) Vitamins and Minerals
(b) Vitamins and Water
(c) Minerals and Roughage

(d) Carbohydrates and Vitamins
PT.O.
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(vi) o HeElfesh T (BMR) :

(37) ARSI 34 i feafa & A siar §

(&) BEdUEEiesH IR gERYEREfesH H &l
T §

(¥) §=&F 9 ¥ IR T hehlal &1 AEISH 6
e 4 fauifd g

() oS dg oh &g 31f¥eh BIaT & sRiiTeh e
a5 1 o o1 Wed FoomE 2l 2 |

(3) oM oM % d1% sgerdl 76l § |

Basal Metabolic Rate (BMR) :

(a) is measured in comfortable sitting
position

(b) is unaltered in hypothyroidism and
hyperthyroidism

(c) is primarily determined by the amount

of skeletal muscle in the body

(d) is higher after weight gain because part

of the excess weight is fat-free mass

(e) is not altered after weight loss.

(vii) Fr=fafea 8 3 feg fag = fusa $o <ol §
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(37) 3TIdl oh SR Sl sgdd Tl
(9) T ATFAISS UIveh dedll ahl e Yo
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(9) 3=F® WA 9 e
(T) 3TIH i Ml |

Which of the following has not at one point
in the past few decades been considered as
a cause of the oedema of Kwashiorkor ?

(a) Altered composition of intestinal bacteria
(b) Low intake of antioxidant nutrients
(c) Sudden weaning from the breast

(d) Iron deficiency.

(viii) Teehlgdd aTed Taroi § ATTtheRT o UsiigH =1
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FHHHA-TR ?

() &R wiEhe

(&) TfHe wiEhe

(T) oz fegrgems
(]) TTHI- TSRS

Which of the following is the nonfunctional
plasma enzymes increased in alcoholic

subjects ?

(a) Alkaline phosphatase

(b) Acid Phosphatase

(c) Lactate dehydrogenase

(d) Gamma-glutamyltransferase

PT.O.
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(ix) STaRIYe Yiferan o fa¥ce e o foag f=fafea
H q frg A1 o1 39a fopan Sar € 2
(37) oz fegEe M
(a) forufed fst
(9) FEeh TTeRe

(%) 5-frmEEe

Which of the following marker is used for

the differential diagnosis of obstructive
jaundice ?

(a) Lactate dehydrogenase
(b) Creatine Kinase
(c) Carbonic anhydrase
(d) 5'-Nucleotidase
(%) Wﬂé%%:@lﬁﬁﬁﬂﬁf@ﬁ%:
(37) Tfegrefes are
(9) Vit-D3 1 F¥AT
(T) IRTeifed sl Geersm
() Ui =1 dveron |

The following are the endocrine function of
the kidney except :

(a) Erythropolein secretion

(b) Synthesis of Vit. D3

(c) Synthesis of Prostaglandins
(d) Synthesis of Angiotensin
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@ug ‘9’ (Section ‘B’)

g FANT G 5x3=15
(Short Answer Type Questions)

qAe—  wt Ui yye ferd €1 75 ¥ 100 Ui H I
e |

Note : All the five questions are compulsory. Word
limit 75-100 words.

Trafafad = afera feufiet fafes

Write short notes on the following :

1. IR o 99 o faf=me |
Regulation of body temperature.
AT / Or
LT e ey |
Protective foods.
2. THEE o ANM Sl i SEaTHR |
Energy requirement during Pregnancy.

HAYAT / Or

FAA e SR 396k 7T |

Human milk and its virtues.
I-59/22 PT.O.
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3. fem # et Sr9-Tare &t e |

Scope of clinical biochemistry in diagnosis.
AT / Or

e % fore Fefiog 2w |

Clearance test for Urea.

. Torest o foru smmicrsh giieqo |

Functional test for Kidney.
AT / Or

A oh T shricHeh aieqor |

Functional test for Liver.

. RIS b 3Tshcd oh dlioh (BaT H) |

Methods of estimation (in air) of Carbon.

ALl / Or

TTHT oF 3Thcd oh dlioh (81 H) |
Methods of estimation (in air) of Sulphur.
Eus ‘g’ (Section ‘C’)

g STl 99T 5x5=25
(Long Answer Type Questions)

qAe— Gt ure yyq A €1 250 9 300 YIS H I

i |
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Note : All the five questions are compulsory. Word

limit 250-300 words.

. STIRIFAT 3TER ™ (RDA) 1§ ? 38 fafy= ger &

W ugigt o ey ¥ IHeEu |

What is recommended dietary allowances (RDA)?
Explain it with the reference of different types

of foods.
AYAT / Or

3 HRhI bl THATZY Sl gART fafi— sTavaenarei S/
I, St 3R IR

Explain the factors which determine food
acceptance for our different needs like

physiological, energy and body building.

. fafy= yer & 9om & fau fafyrse nfasta fwan

(TH.S1.U.) i AN HifaU | fhd THR & RS
AT o oftfer qare (31.3.0%. ) ol guifad id €2

Explain Specific dynamic action (SDA) for
different types of food. What types of factors affect
the thermic effect (TEF) of food ?

I-59/22 PT.O.
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ALl / Or

TG o oAU STER Haee &I A 1 AR
HifSTT |

Explain planning of dietary regimes for old age.

. T o fafy= vemafae faveror (e T 9deon)
i SARSAT hifSU |

Explain different chemical analysis of blood

(blood chemistry test).

HIAl / Or
eI AT H H37a IR W o HRe 3R
TR T2

What are advantages and disadvantages of

Manual and automation in clinical laboratory ?

4. FHEHE IR R TASH USTEH R ? R

3R =y Afed § SGPT, SGOT 3R &a HIThe o
fore sz Yed 31X SHeh ST 7 o g o
U Tl |

What are functional and non-functional plasma
enzymes ? Describe enzyme pattern and

consequences of its abnormal value for SGPT,
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SGOT and alkaline phosphatase in diseased and
healthy person.
HAYAT / Or
Al Tfe =@ma=@ o WY Sel SIS Al Sl
AR hifT |

Explain inborn errors associated with amino

acid metabolism.

feh el o hrafcHeh U470 Jamsy |
Explain functional tests of kidney.
AYAT / Or

TR 3R W oy &) fafuy= feafa it 9
YRR H 39k UROMHT ohi AT ShifsTu |

Explain different condition of hypo and hyper
glycemia and its consequences in the human
body.
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